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Examiner: “Do you travel much by car?”
Test-taker: “No, not really as | don’t own a car here in St Petersburg, so | mostly

take public transport of walk.”

ot EYO[X|2 ObF A 811, 4-58 2= HEMO: EX a5 L T XA 27} OFH 7t

LED 20| EYUET} ot 7t 0l Z0] 2H Y LTt
4. OtE 2: 28 ZOIE0| HF5HA| OpM L.

OfO|2= AT ME 27t 0|32 O|7= 2|7t OfH F=X|of CisllA 22 X| 22Xt 2204 Of 7|
Of Ot LICE o EM K. F4I0| HAE ZBEO| TiSHA Of 7|5t A=

2t0] OFZ 2 HHS & 210] 9OFTH QUCHR 047| O[0fLE7}7| OfF&LICH,

It
2 2 A|ZHS GH[gLCH H =2 'FH'0| EESstete AYLICE FH ! 2K 7 'Describe a
person you know who is intelligent' 2t Of 7|0f| 2t HS3HM 2. 1& TH|A|ZH St OO C| 01 7}
BEXRSIH SHUEQEE HHA SIEZ 0|88 = QUX|TH O] 2HZEQIETL {2 & 0|0F7| 9] A
O 2 ALESHA| OfbM| . 8 A ST 2™ St2{ 1l St= O|0f7|7F E01X| 1 P4l Tdfg AL
Ct,

https://scorefactory.io/index.php?mid=new_board14_ieltssampleanswer&document_srl=1191784&listStyle=viewer 2/3



https://scorefactory.io/index.php?mid=new_board14_ieltssampleanswer&document_srl=1191784&listStyle=viewer

10/9/2020 OfO|U X AT Z AlE 57HX| 7I& £2%t E - IELTS AL TIP - AT EZ|!

5. otE 3: 7 X o= TSHX| OHM| K.

THE 3 AIETO| 0220 H4Z ASHOR AYHe TEYLICH E3F O|HLE FH 7}

=
A0 ES A 2 SRR 7| IR0 AlHOM 7HE OfhE| 2let B 20| 7| & SL|Th o2l
2 o|mj &t7| ARAI0] T} 0f7|3H=

Al 20| O 2 Z Of| Al "off AtE
= SR AN H
CH
gt

= ©

BEIL A OIE|Ci2tR R O/ A LY EoHE "R H O 2 ALY
x| CHEoHR| R3HA Sl 2
ghot A2 4 Qe BlAH0| YLt

| think that | am like many people in the fact that | find it hard to focus when there is a lot
of noise.

e | don’t think | am alone infinding it hard to focus when there is a lot of noise.

» Like everybody else, | find it hard to focus when there is a lot of noise.
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